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L3 k4 R 7 I B L1 4 QLIRS 7 X En L 4 HEHFEL B I 3 L2 % TR 7 I 3
FHAEHT 101 122 120 242 IHTHAN 11,832| 11,739 13,013| 24, 752[#HT — T H 157 146 133 279 A AAERT 508 640 704 1, 344
RYAT 228 215 224 439 FEIT =T H 119 118 119 237)  KIEHX 3,036 3,961 4,094 8, 055
JEHT 354 333 378 71| ERT 233 267 278 545|%KATPY T H 65 55 52 107
AT 524 551 570 1, 121|fRERRT 3,430  3,874| 3,911 7,785 ANHRHX 9,836 10,868 10,206| 21, 074k /A EtHT 327 458 482 940
o By 246 250 271 521 | far T 192 223 234 457 AHS ] 188 298 308 606
Fipaulg 280 261 273 534| A HRET 513 543 558| 1, 101|Hr{RmT 960  1,232| 1,290 2, 522|4kILAT—TH 673 867 967 1,834
51|y 119 131 136 267|7TAHT 3,216| 3,560 3,647 7, 207|#fRH T 359 443 478 921 |5 T H 230 280 309 589
KAGHET 670 654 650 1, 304 HiRRT 2,963 3,424 3,544 6, 968|TRHET 1,647 1,895  2,037|  3,932|HR/NEHET 619 799 854 1,653
SEIRHT 18 14 22 36| Gy 563 643 655 1,298 H &Ry 823 1,035 1,062  2,097|i4Hr 1,353 1,780 1,906 3,686
FHET 62 53 69 122| = BEImT 1,240 1,508 1,531 3,039  HrRHIX 3,789 4,605 4,867 9,472 FE/\iEHX 3,390 4,482 4,826 9,308
T 215 247 281 528| KAy 159 176 184 360
iy 69 61 67 128| A YtHT 326 397 442 839 H-HpHT 2,556 2,862 3,068 5, 930|fEHT 452 520 565 1,085
JUEHT 125 113 138 251 sERHT— T H 336 429 448 877| R\ AHT 1,026 1,245 1,165 2, 410|SEI%HT 263 370 361 731
HHHT 145 112 98 210 HRHT T H 367 465 426 891 /1N J\AHT 1,154 1,451 1,418 2,869 % HIHET 744 865 894 1,759
T RERT 72 58 81 L39| R ERIT =T H 406 482 480 962 IEMBLFHT 390 490 534 1, 024 B Hp HLHT 179 236 233 469
TRHET—TH 156 148 176 324| BELIRETIU T H 268 375 386 T61|[FEETE— T H 44 48 19 67| 5T 958 1,236 1,292 2,528
TRIEET =T H 112 117 111 228 EFIRMIX 14,212| 16,366| 16,724| 33, 090|REHTPE T H 87 95 70 16545 B mT 567 748 773 1,521
TRIHET =T H 137 142 149 291 fEET—T H 176 162 186 348| A ELHIX 3,163| 3,975 4,118 8,093
TAIEETIY T H 145 183 184 3674 T 3,511 4,177  4,312|  8,489(fEHT ~ T H 39 39 43 82
I FrT 444 461 526 987| i [eHT—T H 256 299 320 619| M EHT =T H 15 14 19 33| AP HT 5,232|  6,371| 6,488 12,859
[ ERIT 22 18 25 A3 rnr =T H 564 663 730 1, 393l EmT Iy T H 107 116 111 227 & JE T 158 205 243 448
EHT 163 158 182 340| T IHT =T H 786 889 933 1, 822|pilT 1,763 2,145 2,250 4,395 AEEFHLX 5,390|  6,576| 6,731 13,307
BRI 46 31 46 77| SRR 1,808 1,851 2,039 3,890 1)I[H1[X 7,357|  8,667| 8,883 17,550
5 FH T 178 168 181 349| e P 1, 406 1,608 1, 649 3,257 KIRHT 392 499 562 1,061
RIERT 432 462 498 960| T B 186 201 215 416 464 536 603 1, 139| 5¢ B BT 472 544 602 1,146
(=) 35 33 36 69|\ TR —TH 469 548 509 1, 057| A&l HT 2,106|  2,592| 2,525 5, 117/ EFHT 541 692 647 1,339
fEFEET 84 75 95 170\ TFARET =T H 355 370 424 794| K SHT 210 283 322 60575 AT 131 170 148 318
HEACHT 45 40 51 IINFRET=TH 413 490 522 1, 012| &y 1,033 1,298 1,362 2, 660|#Kk/EHT 496 721 727 1,448
FHET 172 154 173 27|\ TFARETIU T B 370 451 497 948| FRIFHT 455 584 598 1, 182| % BT 342 441 405 846
=L 180 193 202 395|  Frli X 10,124 11,547 12,150 23, 697|H] ZHT 357 398 470 868| It 4 HT 448 598 602 1, 200
ELET 558 580 655 1,235 N 1,952|  2,517| 2,585 5,102 5. EHX 2,822 3,665 3,693 7,358
R FA T 34 29 28 57| A BpHT 2,142 2,579 2,629 5, 20845 H T 112 160 170 330
i R T 537 529 617 1, 146 BF ZEHT 38 44 45 89| i ]x 6,689 8,368/ 8,635 17,003| L-iEHT 231 339 316 655
Emy 26 29 33 62| b HpE T 3,232 3,707| 3,621 7,328 TERETFIT 128 195 193 388
ol FLET 169 164 169 333| bR EmRT 350 410 476 886/ - it i 1,143 1,444  1,462|  2,906( F 7 HHET 132 193 188 381
JE@HT 192 174 207 381| 2T 600 614 624 1, 238| T Efimy 1,798 2,198] 2,221 4, 419| FiEHT 343 479 451 930
AT 388 403 418 821 F iy 1,086 1,348 1,341 2, 689 Hp &[] W 812 1,003 1,026 2,029 E5HT 268 426 407 833
HR T 41 37 43 80| T2y 1, 206 1, 594 1, 592 3, 186[ LA My 421 511 559 1, 070| PE AT 380 440 375 815
AFAEHT 1, 590 1,693 1,843  3,536| FH/mHT 911 1,148 1,134 2,282 #[urx 4,174| 5,156  5,268| 10, 424|/\iFFHT 285 415 445 860
i FH T 216 214 249 463 #r1% AT 388 463 472 935 ) | 1l X 1,767 2,487| 2,375 4,862
li-gzLa) 119 124 152 276 JEHT— T H 500 602 556| 1, 1587y 462 591 585 1,176
e I 172 149 160 309 HEIT =T H 1,396 1,598 1,829 3, 427|%4 Huky 407 546 518 1, 064| AHHINT =/ & 492 685 690 1,375
= T 190 164 246 410(fERT =T H 592 698 758 1, 456| AL HT 152 217 211 428 A VAIRTHE 436 605 609 1,214
AT 198 168 211 379 EITI T A 580 711 704| 1, 415|4TAI0T 128 179 190 369| AHHINT KA 171 255 264 519
JUA T 54 47 31 78| AEEMT 848 993 1,002 1, 995 )11y 1,087 1,444 1,534 2, 978| AVAIRT A K 116 174 174 348
NG 330 344 421 765 i1 H % T 560 634 578| 1, 212| M HTIEAT 348 450 483 933| B HIET) 1|7 357 468 492 960
B my 232 189 277 466|  PEBFHIX 14,429 17,143 17,361 34, 504|HRHHT 427 549 568 L 117|  Adx 1,572|  2,187| 2,229 4,416
1Ly FET 120 119 118 237 Fldemy 221 307 315 622
=) 91 88 101 189 ks ST 768 912 953 1,865 REFHIIX 3,232 4,283 4,404 8, 687 | AR PEH] = 709 955 1,015 1,970
=) 47 55 51 106] /gy 440 580 642 1,222 FERBT S 82 114 129 243
AT 65 63 71 134] A mT 2,986 3,130 2,742 5, 872( L RJEMT 1,076 1,314 1,345 2, 659| FABHT F222 344 235 211 446
Aty 81 85 78 163 /N JSHRT 2,157 2,386 2,211 4, 597|185 KEHET 266 386 402 788 | HABHT RS 783 1,130 1,150[ 2,280
JHLAEHT 187 184 199 383| T/ T 1, 500 1,645  1,557| 3, 202|%gimHT 594 828 829 1, 657 | ZEHRMT HU A = 378 535 557 1,092
AT 443 370 456 826| HLHEHT 1,372 1,616 1,601 3, 217| T RHmT 388 537 549 1, 086 HAFAT F2 1, 090 1,438 1,548 2,986
i1 T 173 180 166 346 kT — T H 272 280 196 476| Hp R ENT 204 256 265 521 | FEHRHT & 673 942 969 1,911
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iy k4 R 7 I 3 L1 4 QLIRS 7 X 3 L 4 HEHFEL 5 I 3 L2 % TR 7 I 3
R R e 322 521 513 1,034 FHEHMT A 1L 170 287 274 561
FERMT 196 298 315 613 & HHT A 436 626 604 1,230
SHSRIT R L 135 195 206 401| FFHRTHN 281 379 385 764
FERmT A )1 393 551 592 1, 143)5 M7 448 678 632 1,310
FERHT 6 5 11 16| HHT R 402 562 614 1,176
FEBITHIAR 749]  1,103|  1,140| 2, 243|EFHATLH] 98 152 157 309
FERMT AR Ji 1,407 1,902| 1,986 3, 888|® M 32 46 55 101
FEG X 7,267 9,924 10,342 20, 266 & HET 4R 270 406 416 822
EEALIE: 212 213 253 466
St AT 3, 108 4,124 4,264 8, 388| & H:MT H AT 38 64 59 123
SR 1,387 1, 749 1,908 3, 657| & FHHTKIR 15 18 21 39
EllmLi 391 547 591 1, 138| & HHTZ L R 361 546 563 1,109
BT 131 195 203 398 & HMTERIN 11 63 75 138
T v T 224 250 259 500 & HATf 4 120 184 171 355
kBT 68 108 102 210| EHHATH B 136 216 213 429
% JE [HHT 60 101 102 203| & FH:MT /N 314 445 479 924
HRE Sy 159 250 256 506| & T L AE 104 169 182 351
P [E ST 207 306 314 620] & HHAT I FH 161 229 225 454
JeJstny 306 392 371 763 &5 FEHT/INEL 189 290 291 581
T i ] 2,792| 3,758 3,645 7, 403|EHHTEE 513 747 729 1,476
=gl 1,019 1,312 1,332 2, 644 HEFHMTHE A —TH 310 404 428 832
= 3T 633 902 899 1, 801 HHHTR A — T H 336 444 472 916
rhURAT 1,253|  1,603| 1,548| 3, 151|EHMTEEAE=TH 201 286 277 563
[E1=1a) 1,051 1,385 1,337 2, 722| & HMT AR 287 436 437 873
LT 377 491 541 1, 032 & H:HT T L 94 139 147 286
PR T 547 758 783 1, 541 & M7 |- B 144 210 200 410
FEHBT 474 615 696| 1, 311|F AT M 60 102 98 200
e X 14,187 18,846| 19,151 37,997 EH:HX 8,890 12,536 12,832 25,368
T 5,334  6,269] 6,399 12,668
AT Hi X 5,334  6,269| 6,399 12,668
[~ 5 T 1,167 1,633 1,729 3, 362
=R T 973 958 1,188 2,146
= mET 457 661 665 1,326
2Ly 138 83 110 193
R4 TIRT 48 47 67 114
R EHT 326 507 532 1,039
THLRHT 848 1,170 1,224 2, 394
oL LT 642 899 918| 1,817
- HL LT 942| 1,323 1,393] 2,716
AT 837|  1,193| 1,217] 2,410
T 657 959 977 1,936
[EF=L0) 148 229 227 456
+-3rEenT 197 301 280 581
ERAT 327 501 475 976
= RIAT 104 145 148 293
HFHET 117 168 168 336
B X 7,928| 10,777| 11,318 22,095
FHFHTE IR 635 818 853 1,671
EHIHHTE I 1,182 1,455/ 1,540 2,995
FHRHT R RAR 217 330 334 664
HIHTRAR 948 1,377 1,421 2,798
2 SEHT N 135 215 227 442 WA E 150, 420| 184,427| 189,619| 374,046




